.................................
L

----------

2024
Trford
a7 A4 q9e 15 1Ae ) [971% : 100
g :
@ IR F 15 Fe TN % yea.qy g & forw RURA & 1
Gy FEIA-IAAFATANTATE )
i) @dtgeT e §
(iv) Y% Y97 & IR 7 S Iedhg far e £ 1% 0% [ad @98 BT FH 8
w ¥ % % 37% T HFT & |
(wi)  F9H T @ JRE] FIAT AR 377 % td HEY /
(i) T THT T T B, I W FHY T 5y FHAT |
1. @ g e |
 Yee @UE I a8 [@eq gARt I swfee o fafay |
() aR AT o Ak ok a2=AR F @A+ DP-TA R :
Q A | ) 34
(iti) 1 v) I-4
(@) Icoszxdx &+ HE W0 : 1

(i) %s;nzﬁhcw (i) ——12-sin2x+-z-+c

(iii) cosZx —sinlx + ¢ o (iv) —lsin2r+-zv+c
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AA LYY A .
() —iis ] ph AREM:
.
M 1 (f” 0
(i) -1 A

N 5
(&) mmg[iig) +[%] +7y=°ﬁmﬁ3}rﬁ;

dx
G 9 (i) 3
(i) 6 (v) 5
(¥) 3R A={a, b c}, B=12, 3,4, aAﬁBmmiﬁ"ﬂ '
@ {le, 2),(a, 3), (b, 3), (c, 4)} (i1) (e, 3), (@, 2), (b, 2), (c, 4)}
(i) ((a, 3), (&, 2), (c, 3} (iv) {(a, 2), (0, 4), (b, 3), (¢, 4)}
2. ®W wvg Hifve .

(%) tan™(V3) - sec (_ g) 51 39 719 Hfre |

A A A A A A
(@) aRARE 25 4 oo -4+ 1k S E, A A &1 " e S |
(M) R PA) < 06, pB) = g3 3in PANB) = 018, @ pB1A) 1 79 7

Hifsg |
() g% = gi—;’. %1 7% & 719 T |
x-.-

-3 0] .
(%) “ﬁr+y=[z g]:x—y={ 0 _J,mxﬁ?l?;,-%mmﬁﬁnl

3. WWW:

(=) aﬁAﬂa,b,c}wBﬂqﬁy}iﬁBﬁAﬁWﬁﬁd@?W@%
ﬂawmﬁ(bﬁective}%ﬁﬁiﬁ@wmﬁﬁql

(@) aﬁy:Acosf+Bsint,ﬁﬁl@§ﬁ]ﬁ'Q% %j—g-+y:0%i
(M) afe s wfew & 3 b F ot @ 0, A g i
sin(ﬁ):}-[ﬁ—g[.
2/ 2 |
(7) ﬁ§A£3,~2,-5)ﬁmaﬁﬁampr%msbaf*zk)%m%mm
Tl Gt Jra Hifiw -
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4. FH? TIZ SHAT

o Hﬁaemrasrméﬁﬁqﬁqﬁwﬂﬂ,gﬁ,m:_a&naﬁmg, )
(®) Iqsin:zxdr Wnﬂm%] 2

W) 3R TN R, IS A R oy g £ ARG IR Ry 4%
T oI §4Y R | -

2
M’a} aﬁ:;,iﬁm?u&m§3§k§+§+?=0?,?ﬂ a.b+b.?+_§.§
1 7H H4 HifF | 2
5. @4 @vs difse
12 3’2 n ! ~
() ﬁg+—§=18fﬂ'{t{mmémmml 5

/@ T & Hean T ST Fman dpred 6 2 991 396 W B AMES LFAEE L 5

(m) fag &I 5
| x y
b s s
X y z =(x-y(y-2z-x)(x+y+2)

lytz z+x Xty

(1) werd fafe g tas gnms wuen w Fefdfed sgaa
- x+3y<60, x+y>20, x<y, x20, y20
& 1A z = 3x + 8y HT gAY 791 H{YFAT A T HAT |

5
”x—2| x#£2
() a2 fiyy = { x-2 TN TiNg e o x = 2 W WA aw
_ 0 x=2
FFHRN $l Fid hIfA | | 5
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6. %l wug Hifyy .
(%) Wmﬂmtﬂsyﬁ dy .y ® T ffy |

(w) wﬁmaaﬂsoomwﬂ“%mt | 78 71 2 5 20%
T X113 vgd § | o AR I e e % ok s X1 T vg@
2, 36 Wi s FIRT |

138 3
(m) ?EA-[I 4 3}‘@ A g AR 4, adjA = |A|. L
13 4

(%) ﬁ@iﬁﬁﬂ{%NquIﬁﬂRaﬁ{“’b}R(C,d)aad=bcgﬂﬂTlii‘q“ﬂ3|
A A A
(¥) et ?=i+2}—42+1{2i +3) +63)am
— "} A A A '? 6"\
r=3i+3)j -5k +p(2: +3J * k)%mwﬁmm|

(8 #WW%’Q

(%) g Rify & tas wiem Fea 3 80 $ifi .
—Xx+3y~22=3
x+2y+32=5
—2&x+y+z=—4

2 0 -1

(@) 311‘0?1@‘4{5 1 0
01 3

, @ AL 3ma Hif )

8. ﬁéﬁ@g_ﬁm

I

de I HH Eﬁlﬁﬂ'!
Jtanx+.jcatx T I

(&) @)

(ii) Tag Hifsm .
afd
j loge (1+tanx)dx =
0

n
"8— 1Gge 2

1+cos x

4
J xsinx dxﬂqﬁmﬁﬁm|
0

324 (EY) 4 -

https://www.upboardonline.com



9. qﬁgqa;gwgﬁﬁ"l
(F) oEFE FHEO (1+y2)dx=(mn_1y4x)dy«ﬁmﬁfm,‘i .
(E) (1) ﬂﬁwsy=xoos(a+y)mw”,i1,a'1f@rz£{f3qfﬁ

dy eslaty)

dx sin a 4
i) M y=Ginoz R dy o5 HRYT | 4
dx
(English Version)

Instructions :

(i)  First 15 minutes time has been allosseqd for the candidates to read the question paper.

(ii)  There are in all nine questions in th;, question paper.

(iii) Al questions are compulsory,

(iv) In the beginning of each question, the number of parts to be attempted has been clearly
mentioned.

(v)  Marks allotted to the questions are indicated against them.

(vi)  Start solving from the first question and proceed to solve till the last one.

(vii) Do not waste your time over a question you cannot solve.

1. Do all the parts.
Select the correct alternative of each part and write it in your answer book.

(a) IfAis asquare matrixand A2=A, then (4 +0D3~7A will be: 1
@ A (i) 3A
(i) I (iv) I-A

(b} The value of jcﬂszx dx will be : 1
G Lsinoe+Z+c (i) —%Siﬂ?x+§+(‘
(i) coslx-sinx+c (v) - %Sin 2x + E +C

AA A A ""

(¢) Thevalueof —i.i + j.j - k.k willbe: !
Gy 1 Gi) 0
(i) -1 Gv) 2

")
(d) The degree of the differential equation Qtd J + |-§ i Tv=0 willbe 1
L
(i) 2 1) 3
(11i) 6 (ivi 5
324 (EY) 5 P.T.O.
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n the function from A to B will be :
() {(a, 3), (a, 2), (b, 2), (¢, 4)}
(V) {(a, 2), &, 4), B, 3), (c, 4)}

(@ IfA=la b c),B=1234 1
© (@ 2 (a3, b, €4
(i) la, 3), (b, 2), (c, 3N

Do all the parts :

1{-2).
(a) Find the value of tan!( J3)-sec ) .
A A . ‘
(b)  If the vectors 2? + _; + k and i —4J * Ak are perpendicular, then find
the value of A.
() If PA)=06, PB)=08and PAT B) = 0-18, then find the value of P(B|A).
o dy o 2ty
(d)  Find the the general solution of dx  x-2
() Hx+y= 700 x-y= -3 0],13}1911 find the value of x and y.
=14 5|’ 0 -3
3. Doall the parts :
(a) IfA=la b, c)and B ={a f 7}, then find the number of functions and
number of bijective functions from BtoA. https://www.upboardonline.com
d2
(b) If y=Acost+ Bsint, then prove that Eg—+y =0.
M n .
(¢) If the angle between the unit vectors a and b is @ then prove that
. (8 1, ~ £
—|==1ad- b}
5111[2] 5 | & |
(d) Find the cartesian equation of the line passing through the point
A A A
A(3, - 2, — 5) and parallel to the vector (3¢ +2j - 2k).
4, Do all the parts :
(a) Find the interval in which the function flx) = 8x® - 3x% - 36x + 7 is
increasing.
af2
(b) Find thevalueof | sin®xdx.
-xl2
(¢) If Ry and Ry be two equivalence relations in a set A, then prove that
Ry N R4 is also an equivalence relation in A.
(dy If a , b and ¢ are vectors and ¢ + b o+ ¢ = 0, then find the value of
3.54'3. ;.:+?t£:
324 (EY) 6
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5. Do all the parts :

(a)

(b)

(c)

(d)

(e)

2 2
Y=,

Find the area of t . X 4
he Part iNgeriped by the curve 95 9

Find two numberg such thay {heir sum is 6

minimum.
Prove that :
x y 2
2 2
X 2
J 2 =(x-y)(y—2J(z—x)"I+y+2)

y+z 2+ x x+y

Find the minimum apq Maximym value of L.P.P 2 = 3x + 8y by graphica]

methﬂd ll.I'ldBI‘ t'he ff)l]DWiI]_g CDHSUHintIS :

*+dy <60, ¥+y220, x¢y 220, y20
| x-2]

If fix)=4 x-2 x#2

is defined, then check its continuity and

0 x=2
differentiability at x - 2.

6. Do all the parts :

(a)

(b)

(c)

(d)

(e)

324 (EY)

Solve the differential equation (x + 3y?) ? =Y.
i

and the sum of their cubes ig

There are 500 students in a school in which 230 are boys. It is known that

20% boys are studying in class XII. Find the probability that a randomly

chosen student is a boy and is of class XII.

13 3
IfA=|1 4 3|, thenprovethatA.adjA=|A|.L
1 3 4

Prove that a relation R on N x N is defined as (e, b) R (¢, d) < ad = be is an

equivalence relation.

Find the shortest distance between the lines

M A A A

- " p
r=i+2j—-4k +x2i +3j +6k&)and

A [ A

- \ M A M
r =3t +3j -5k +w2i +3j +6k).

.
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7. Do any one part :

(a)  Solve the system of linear equationd by magyiy method : 8
X+ Jy-2z= 3
3x+2y+3z=5
~2x+y+z=-4 |
9 0 -1
(b)  Find A-L,if the matrixA =5 1 0 8
0 1 3
8. Do uny one part :
2
Jranx
(@) (i) Findthe value of | —=om— —~== dx. 3
..!tan X+ Jtm
0
(1) Prove:
afd
J loge (1+tanx)dx= % log, 2. 5
0 _

n

(b}  Find the value of [ %dx 8
0 1+cos” x

9. Do anyone part :

(a)  Solve the differential equation (1 + y%) dx = (tan™! y=x)dy. 8
P
(b} (i) Ifcosy=xcos(a+y) and cos @ #+ 1, then prove that dy _ cos™(a+y) 4
sina
(i) If y = (sin )%, then find 2| 4

dx
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